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(B O-1] S8| =S HHIFH =0

7= 20134 20144 20154
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- FE AAE 5.259 2I(AA U2 14.8%)
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[23 I-4] 212 6¥72t £ 50 25 += 0|
(2l - $3)
20114 20124 20134 20144 2015
1,656,654 1,652,860 1,891,308 1,567,974 1,338,056
474,406 485,206 636,376 793,296 835,152
83,696 103,423 119,309 145,812 112,928
301,743 235,674 244,962 223,442 100,758
77,659 160,615 107,403 139,220 79,679
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H I1-2] MALH| 5519 & 85 £= MEHHS 2H¢)
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=5 20144 20154 S7t2(%) F2 W3
86. k- H=E 7|HAL, HEHH| 52 1,611 1,559(2998) OIZE, 2{AlO}, QI
16. &, 07 g4552 ZHE 3 954 951(31700) ==
13. Ot =X| & 7|EF AlZH N & 53 943 890(1678) H| | =22t
93. 27 32 244 212(662) ot2fto|
17. 92 9 MEFIIR} 3 181 178(5933) e
[E O-3] MAHH| 58te] =& g2 E= J&(HS 2&¢)
(Bl - $3)
=5 20144 20154 HLH(%) FQ W=
79. Ofint 7 M= 46,314 7,229 39,085(-84.4) 3, 2
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69. =X 772 60 712(-92.2) =32 0l B2ty
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(911 $5, %)
— HS 20134 20144 2015
=T CODE 2o 29 29 528 HIZ
A 3,218,382 3,164,650 2,696,538 -14.8
SEYME 01-05% 119,309 145,812 112,928 -22.6 4.2
MEYHE 06-14% 56,607 139,220 77,371 -44.4 2.9
RX 2 ZHAE 15-248 4,158 4,758 6,315 32.7 0.2
BEGYUE A= 1,891,308 1,567,974 1,338,056 -14.7 49.6
selsYRE 28-38% 38,548 52,305 44,146 -15.6 1.6
SCAE- 1R 39-40% 40,705 34,032 24,462 -28.1 0.9
7= 41-43% 1,406 1,158 1,212 4.7 0.04
=M, HAS 44-49% 14,197 25,140 26,229 4.3 1.0
HeHE 50-63% 636,376 793,296 835,152 5.3 31
- 2R} 64-67F 2,147 2,399 3,190 33 0.1
A-AfE 68-70% 2,294 7,245 6,142 -15.2 0.2
2424 g 17,959 13,277 14,369 8.2 0.5
g, 258 72-83% 244,962 223,442 100,758 -54.9 3.7
71A- 71717 84-85% 107,403 116,962 79,679 -31.9 3.0
5717 86-89F 23,167 17,955 7241 -59.7 0.3
gt Y| 90-92% 8,967 9,172 8,725 -4.9 0.3
27| 938 282 32 244 662.5 0.0
THIE 94-96F 3,383 3,228 3,190 -1.2 0.1
&2 978 166 18 4 -77.8 0.0
= 997 5,038 7,225 7,125 -1.4 0.3
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TETYENMME 25275 843,924 834,380 804,214 797,901 525,381
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B [1-5] Mdt] S50 2 35 &5 (HS 2H9))
(S - $7)
=25 20144 20154 =7194(%) F=Q W=
16. 7, 07, 447 39 ZHZ 146 26,641 26,495(18147) Ef=
88. 8tmy| @ 1 2= 1,058 22,959 21,901(2070) Q32H0|Lt
20. ®A A, HAMFO| AHF 2,219 5,781 3,562(160) &=, H=
01. A== 59 349 290(491) HA[O}
75. UM O ME 60 152 92(153) &=
B [1-6] MdCiH] S50 2 52 S5 S(HS 2H9))
(S $7)
== 20144 20154 ZAM(%) F=Q W=
10. 22 61,005 16,590 44,415(-72.8) =, ZA|0f
86. Ek HEE 7| &R}, AMSMH| 13,627 5,600 8,027(-58.9) s, 21
89. Ml YRS 13,723 2,895 10,828(-78.9) ==
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[E [1-7] £3t9| HS code E2E 42! 0|
(2 - $T, %)
14 1 1
=53 HS CODE 2(2.:;_ 2(2:;L oy ZOS;E H|=
=k [= | =kl oo= S
= A 4,126,404 4,446,231 3,655,278 =20
S=ME 01-05% 107,829 125,590 118,104 -6 3.3
AEHME 06-14% 240,187 206,621 142,708 -30.9 4.0
LA Y IXAE 15-24% 267,580 317,307 259,467 -18.2 7.3
2 JYAE 25-27% 804,214 797,901 525,381 -34.2 14.8
SIS YME 28-38% 202,932 198,941 164,195 -17.5 4.6
SgtAE- 12 39-40% 314,557 313,658 263,950 -15.8 7.4
=2l 41-43% 22,344 22,659 18,301 -19.2 0.5
=X, HEME 44-49% 77,923 89,183 91,195 2.2 2.6
HMLHZ 50-63% 652,781 748,352 629,471 -15.9 17.7
At Xt 64-67% 63,454 70,438 42,744 -39.3 1.2
A-AHE 68-70% 65,127 82,836 85,889 3.7 2.4
HaBs BN AR 1,601 2,209 1,703 -22.9 0.04
L, SEME 72-83% 268,175 259,914 244,196 -6.1 6.9
7|A-H71717] 84-85% 593,072 753,980 598,866 -20.6 16.8
=&717] 86-89% 290,369 259,662 229,324 -11.7 6.5
e FJU7(7| 90-92% 50,154 36,698 26,102 -28.9 0.7
£ 93% 0 127 48 -62.2 0.0
THE 94-96% 89,006 126,447 99,466 -21.3 2.8
o== 97% 7 4 0 -100 0.0
0% 992 15,092 33,702 14,168 -58 0.4
X128 : KOTRA
[O2 I-7] 22 347 2519 100 $UEZ 2|2 37 0|
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50-63F 84-85F% 25-27% 39-407 15-24% 72-83% 86-89F% 28-38% 06-147 01-05%
MEHE AT AEgMME S2AR- 1R (X Y ZAHME EY 3562 25717 SfEEUME ABMRIE SENNE
20134 ZeH 652,781 593,072 804,214 314,557 267,580 268,175 290,369 202,932 240,187 107,829
2014 24 748,352 753,980 797,901 313,658 70,438 259,914 259,662 198,941 206,621 125,590
20154 ZeH 629,471 598,866 525,381 263,950 259,467 244,196 229,324 164,195 142,708 118,104
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O (718 %) =89 20 W SHOE TA WRAFHL 91.34%S XA,
222 2{A|Of, QI Ei=, 23 2t0[Lt g
* S RK(HS 2709)42) ot 2 8tz B

O&H-% 1Y 75+ 57.19 2 HAE AA 29 H|F 90.2%°1A 1.14% p 57t
- 10t} o} Al Y Taa}oM, SRR
T o

- 109 YT ol : WFerE|Al, e,
- 9E2 20099 B T A Fo o F WAF AT

- =] g eSS4 759 )2 w2, oofE 5 A A=A A FLEAE 74

F

[©)

H 1-8] 2015HE S5t2| 100 FE=

(T2 - $F, %)
H3lo| A= E5to] A0l A=o0| 5

il E.‘:—.: = TZ?:.’% a; = T;zr% a; — ﬁlﬁ% i | Ha=d
1 == 2,483,944 | -13 | 3,226,464 -20 5,710,408 | -17 91.34 1(-)
2 2{Al0t 6,043 -4 78,328 -5 84,371 -9 1.35 2(-)
3 oIz 22,697 -28 53,831 -4 76,528 -13 1.22 3(-)
4 Ef= 6,983 -63 43,042 -25 50,025 -35 0.8 4(-)
5 232t0|Lt 2,021 509 33,739 223 35,760 232 0.57 19(1 14)
6 CHot 29,899 -26 97 -97 29,996 -32 0.48 7(11)
7 AytE 1,336 1052 28,437 -42 29,773 -39 0.48 6(41)
8 Z2|m 5,970 | 149,150 | 15,998 0 21,968 37 0.35 15(17)
9 7 | AE 20,802 16 0 -100 20,802 -39 0.33 8(}1)
10 = 14,985 41 4,987 -37 19,972 8 0.32 12(12)
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3 1] ES 22,743 50,634 73,377 1.17% H| U=t
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5 or=2[7t 3,863 24,739 28,602 0.46% o2
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s &5 | e 2 Al s &5 | e 2 Al s &5 | e 2 Al s &5 | e 2 Al s &5 | e 2 Al
mEs 0 3,146 3,146 215 6,266 3,481 470 3,326 3,796 19 5,514 5,533 8,909 2,528 11,437
oza|7t 489 3,841 4,330 12,581 36,722 49,303 3,252 39,561 42,813 5,898 26,561 32,459 3,863 24,739 28,602
meE 57,580 90,749 148,329 50,137 40,000 90,137 49,298 28,571 77,869 32,590 35,477 68,067 22,869 7,795 30,664
moE 104,050 16,514 120,564 66,815 12,848 79,663 123,864 11,293 135,157 92,990 11,165 104,155 22,743 50,634 73,377
i cls 51,924 51,722 103,646 32,034 70,232 102,266 46,926 58,444 105,370 74,624 60,358 134,982 115,953 8,454 124,407
U OAlOF | 3,314,384 2,622,618 5,937,002 3,769,391 2,714,036 6,483,427 3,902,594 3,077,187 6,979,781 4,240,110 3,025,575 7,265,685 3,380,941 2,602,388 5,983,329
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1) 3=

O 5ot |t wH=L0= HQIFHO[ 91.3% R, G Z1IX| 7|=F
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- 20159 E-57 §9 2= 57.19 g2 = AddiH] 17% d4a
- HER 522 13% P4 24,89 DR HA 439 02.1% B
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- HESE 7Y A2 A9k 11.89 DA 7.49 EEE 37.1% d4
- Qe Qo] SauT we Wy AR S9o] Satl o 5ol TastHA
Boled) 4RI 4 oR S4
[E 1-10] 20154 SE-53 12 415
(T2 $7, %)
s 23510| 49 AzolsH| ooAX|
=9 BUE = BUE =9 HIS =N
2,483,944 -13 3,226,464 -20 5,710,408 91.3 -742,520
A28 0 GTA
[I8 T-9] 2t 1037t HE= WY F0|
ool $T)
8,000,000
7,000,000
6,000,000
5,000,000
4,000,000
3,000,000
2,000,000 | - | |
1,000,000 — — — —
2006 2007 | 2008 | 2009 000 | 2m | 2012 | 2013 | 2014 | 2005
*5 47718 | 581,521 | 754046 | 793048 | 1187861 | 2464188 | 2484699 @ 2,913,626 2841476 | 2483944
29 123188 | 1392453 2033233 | 1,887,686 & 2277816 = 3165181 | 3527843 @ 3632909 & 4022515 | 3,226,464
e 1,699,604 1,973,974 2,787,279 2,680,734 3,465,677 5,629,369 6,012,542 6,546,533 6,863,991 5,710,408
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O ¥ AL FEd & B4 A 5 A Boo] WSk, 53 ) 40
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Louy, A& IR A FH
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SR YT e AEE A

A
ol
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HE
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»
AN
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30

7} 5oz 9

=
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4 E0] AFo g

a1 O

27171 se= A "iAlE L

B4 52 ogke] @R AT 90%E AT

A PO 15d 54.56%2 & ZO07 A
- ¥hE QG AZ(HS 50~63) £EHEE ‘1149 17.1%914 1549 32.66%= Z7}, o= &=

S ZFQAAEHS 25, 26, 27, 72) & HE2 114H 71.4%=

7199 53 =58 282 5 A7kl A% EHEHAL S HoiE
(B O-11] S8 HE= &2 5% +=EE3
(9l - $8, %)
20154
Doy L4

=50 HS CODE 20144 oy =25 HIE
d=d0%s, d=R 27 1,146,386 1,057,042 -7.8% 42.6%
OF/FLE(M(0rA, EIHEHE 2)) 62 622,034 633,206 1.8% 25.5%
I REL 26 339,349 204,662 -39.7% 8.2%

O|F, B&EE(HZ0A, THEHE) 61 118,985 166,097 39.6% 6.7%
07, ¢44=, dxXs=E S 03 143,257 108,475 -24.3% 4.4%

O 1 9ol A717171, &%, 9348H &

A 9 T AIEHS 39) 59 AlE

==

HEI(HS 85), YA, Bz} 7|AF(HS 84),

Y A g Al

O 3= Y =Y E52 FEA A=, FEFHS 27)2 AA 49 13.2%%1 4.279
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2015\ S0 (|0 S
H I-12] S5t #E= &9 5 ==
(29) : $3, %)
20154
ooy
229 HS CODE | 20144 = = =
FE80%E, ER 27 691,431 427,294 -38.2 13.2
T21717], 2, S44H| & BEE 85 419,769 332,361 -20.8 10.3
AR, 2t VAR 84 310,260 252,094 -18.7 7.8
ANFYIEE 87 210,517 196,189 -6.8 6.1
SCAE S O HE 39 193,431 168,037 -13.1 5.2

(D) 8 F=4 BE =

O HS CODE 4992 B4 A JekHS 27017 H3ZA(HS 2601)0] 1, 295 214

- Agte] A9 FF 71E Fddin] 26.9% F71IAo Y Bkl oR FAYIE 7.57% U
A&AQ] drlstgtor B3te] ZpAAARe] AStHI et SRR SR
AL Glo] AP E A7ME EAHCR st B3 A9 FF diFrE e FHA
CEl

Ootd 9 HA{7tA £52 Z47F 192.71% , 14.74% 57Kt Wi Aeta} HgA2 747t

HAEH] 7.57%, 67.21% 74
- Aere a1k 149 73.498/E — ‘159 53.4798 /%),
V2 A1 AR B

APHL 33 ) S8 Favt

[E I-13] 53| #5= F2 =29 YUE 2 &5

z= A ($H) =2 (MT1)
(HS code) 2014 2015 BUE(%) 2014 2015 SUE(%)
MEH2701) 1,135,702 1,049,785 -7.57 15,470 19,631 26.9
MM (2601) 221,889 72,767 -67.21 2,830 1,543 -45.5
0¥ (2608) 6,979 20,429 192.71 19 55 191
MOIIA(2711) 1,987 2,280 14.74 3 4 27.8

A=d : GTA
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2015

40

(2) #8 FE4 s 4

AHS 2709)°] FEF A7 Yol

i)
18
ox!
Jo
o
Jo
fu
ot

OuRY HEF £URE F 4%
Ve WEg A4

o] FFOoEHE S5t Yk 99 A AKEWY (HS 2700 A 44%

-

___ﬁ_‘é‘

1=]
T
o
_‘i
A

P

Z
S

(HS 2701) =4F2 Adtv] Z+2r 2N 44.4%, 555 29.7% 4

(£ I1-14] Sote| #15= F=d YMEHS 277) =4 4X

z= = ($H) =2 (ME) CH7H$Z)
(HScode) | 2014 | 2015 | Z2B(%) | 2014 | 2015 | S#=%) | 2014 | 2015 | SH=(%)
Heooias
90231 | 500,000 | 280.000 |  -44 500 | 525 5 9451 | 533 | -436
(HS 2709)1
Heooias
2lomel | 154.843 | 116458 | -248 | 166 | 218 | 313 | 9323 | 534 | -42.7
(HS2710)
er ; .
1 7 7 =44 4 102 71 -29.7 134.6 106.5 -20.8
(Hs2701) | 12678 | 7.606
MAFA
7.32 27 13.1 11 11 - 662.3 717.4 8.3
(HS2713) 323 8,279 3
=28 GTA

B

OF%9 HET 28 52, FAY FFBF 2 5 7

9] WESH TESLS S A(HS1006), 25(HS 1005) WY, 7|EF 25 S(HS 1008)0]

N7 FARTFE A8 AAET 2248HTES FHAEA RHE



20154 S URI2H 5%
[E [[-15] 25t9] HE=Z Z=2(HS 107) =& &H
z= = ($3) =2 (HE)
(HS CODE) 2014 2015 SUE(%) 2014 2014 SUE(%)
= (10) 43,406 13,863 -68.1 80 27 -66.2
22| (1003) 1 - -100 0.001 - -100
244 (1005) 5,662 3,016 -46.7 16 10 -36.8
A (1006) 37,265 10,770 -71.1 64 17 -73.2
24 (1007) 12 - -100 0.02 - -100
o2 (1008) 466 77.6 -83.3 0.7 0.1 -83.3
X2 GTA
% [H13] SUHFFHE 2L AU FTY2E L2
O &9 HEF vg $&, 294 9 5T v5 4o
- =9 HESH vl &2 FH97|E FAdiy] 39.1% 4T 199 g 7|F, 20119
05.99F & =& & X|& A A4
- A & F AASkE HF B 1349 1.7%, ‘1449 0.8%14 151 0.6%= 4
H I-16] 25| #5= H|Z2(HS 317) & AN
zo = ($H) = (ME)
(HS CODE) 2014 2015 SUE(%) 2014 2015 SUE(%)
H|Z (HS code 31) 32,043 19,508 -39.12 142 71 -50
ZIAH|IZ (3102) 28,811 17,926 -37.8 132 67 -48.9
L= T SfeH|E, 7|EHIZ
= Sreftl, 71E] 3,097 1,546 -50.1 10 4 -63.3
(3105)
Z'2H|Z (3104) 120 28 -76.5 1 - -91.6
=24 F= A2 H|IZ (3101) 13 7 -46.2 0.03 - -70.0
QIAHH|Z (3103) 2 - -91.43 0.01 0.01 -80.0
X2 GTA
HI E32 529 609 48 M=20Z HA| 429 0.16%E AtX|otH, 699 £=& AZOZ M| £59| 0.13%= BR



2) B Aot

O 2{AI0F, Sete| M2u = FX|

0

O LAFY 84375 T Z AU H] 9% 2
- AWEQO14H)oNE 91T 2eiS alsAon, 201580l LATEI} tha 2k
- S-e) molFRE Bee] AR thel B 1.35% 4

i
ol
r

O B3te] B Ao} 5L 41% A% 6047 T, 5L 5% ZHAadh 7,8330 2] 7%

[E O-17] 2015 #2{A|0t S X
(el $5, %)

gsto| £5 S5to| 4 42U SOLK|
2 528 2o 528 29 HIS 2o
6,043 =41 78,328 -5 84,371 1.35 -72,285
A=Y GTA
(O T-10] A= HeAof W 0
(T $7)
120,000
100,000
80,000
04
33,619 [
99,853
60,000 -
96,511
54,927
40,000 -
20,000 -
26,960
12,966 11,007 7.712
2009 2010 2011 2012 2013 2014 2015
A=Y GTA




20153 S0t Q|2
O 2 549

T=

roh
dlt

53] #=Alor Hf

5291 28.1%21 1708 2212 342, AAthH] 63.8% 7

O 2|7 (HS 62)2F 271(HS 92)F AlQlsta 21 A9 59 &5l HapE AR

£ E50] det AAH 58 7)) e Ao

% EEL 9

[E O-18] #HHAOF &¢I 69l =55

3 o) wE

=]
B
PATS

oz HY

>=II

SE(HS 62)0.2 AA| HAlo}

ow, oj&

(T2 $H, %)

- 20154

259 HS CODE | 20144 =a =35 o=

SR/ T8 62 4,699 1,699 -63.8% 28.1%
(D2/opA, CHEHS) ’ ’ = S
oz, yzu= dxs= S 03 0 1,681 - 27.8%
o7y BRE 92 1,374 1,076 -21.7% 17.8%
A HE=E 7|8 MSAH| 86 5 323 6360% 5.3%
CIXTZHENR b4 3 265 8733.3% 4.4%

=28 GTA
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- IT AL
O 2 54 ¢

roh
dlt

O E3te] #ejAor At +UFES FE4 A=, F=FHS 27)01™ AA| +A2] 83.1%<

6,508%F @22 HEHH] 91.5% 57}

- FT3 TR 2 BAlolR R SR BB AAERI 195 344

- & 550 AAohE o IS AW 41.4%001A 83.1%= A 57t

020159 F&E(HS 10) &AL oF 2. 799t E M Eof v|sf 34 T4

(HS 31) 228 201499 o]o] HEg+

H 11-19] H2IAI0F 49 59| +U22

FRom, g

B $H, %)
20154
E-4- L5

=59 HS CODE 20144 oy =u= HIE
d=d9ir, 4=R 27 33,984 65,079 91.5% 83.1%

U=, UEHAE, SE 44 3,540 3,202 -9.5% 4.1%

5= 10 12,954 2,720 -79% 3.5%

HEsgel 4= 1 825 2,293 177.9% 2.9%

HF, ¢44=7, SMs= S 03 1,820 1,995 9.6% 2.5%

A=z GTA
H1 Sok2 2AI012] 1242 =Y the=2 =2 HA| =22 0.003%, 1048 =& Uy=2=2 x| =£2| 0.02% R
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2015\ S3H UHQIR 5%

O 201395 ¥ 39 Y= 74

O H3te] Wle #52 28% #Aqr 2,269% &
W = 7,6528 gEjolH Hote] A o

i)

, UL 4% AT 5,383F GEE &
799 1.2% AA

o

[E 11-20] 20154 #OIE mS Mx
(91 $7, %)

Bato| = 25to] 491 FEUEA 24|
=2 U8 =L U8 2 HIE =L
22,697 -28 53,831 -4 76,528 1.22 -31,134
A=2:GTA
(22 1-11] ¢IEY HolE WY =0
(T $7)
120,000
100,000
80,000
53,074 Wl
60,000 - [
53,831
25,500
40,000 -
75,753
50,149
20,000
32,976 34,911
22,697
639 Al
0+ T T T T T v
2009 2010 2011 2012 2013 2014 2015

X2 GTA

22 ®
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m
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40

=
20149 8 —’.%%% %5&9}% quld 0 2 we jol2 B9

(SR : $H, %)
==4 HS CODE 20144 2E=
I BUE HIS
SCtAEH 3 I NE 39 2,784 4,660 67.4% 20.5%
FI3ENIE, HE25, SIEEES & 28 657 2,963 351% 13.1%
U2O0IEY O NE 76 2,688 1,886 -29.8% 8.3%
st o=7)7|, BE 90 1,129 1,565 38.6% 6.9%
Q7|38 M= 29 2,146 1,276 -40.5% 5.6%

A= GTA

O 5o #lk: Fd ¢ 52 Y 1 AFHS 78)22 AA| 942 10.6%0 5697t

22 E 7=
020154 71& A=9] HHET F=HS 107) 752 8=
- 159 Q=9 o|A7|FE QAT FAE AR ARtE diEY 3E 42 -E0] Y] E2 S8
AOE I
B 1-22] #Rl: &9 57 +=UE=
(B9 $7, %)
=25 HS CODE 20144 2010 =
BsS 14 29 sus HIS
At I NS 78 8,484 5,697 -32.9% 10.6%
HAZ, BUHe 7[AF 84 3,142 4,671 48.7% 8.7%
AE0H, AR 08 4,609 3,703 -19.7% 6.9%
™ 52 3,120 3,316 6.3% 6.2%
SAEH Y I NE 39 1,591 3,043 91.3% 5.7%
A=2: GTA

H =oh2 Q=2 1099 ¢ te=2=2 A +2 0.03%, 1179 2 =22 A 52 0.04% HR

23



B3] W= 52 03% HAT 98T D7, U 25% ATt 4,304%
T 50025 EH = AWE 7,6855 2 fHH] 35% A5k
0.8% &+

lo

o, 5ot A 9l e

[E I1-23] 20159 HEi= v A

=

1A

(9] 33, %)
S5t = S5to| ¢ TEUEA =X
= SUE = SUE =4 HIS =4
6,983 -63 43,042 -25 50,025 0.8 -36,059
A= : Ministry of Commerce, GTA
[O8 M-12] HEE HEf= wS 0|
(H9: $7)
120,000
100,000
80,000
LR
60,000 H+E

57,774
40,000

ANGY)

43,042
20,000

21,527 19,078

6,983
2013 2014 2015

2009 2010 2011 2012

Atz : Ministry of Commerce, GTA
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O F2 ==8 x5

5319 HHo Mo EFE-2 9AR, Y2 7IAFHS 84H)E HA =&

1847 28 715, AAH] 67.3% &4

[E O-24] HEH= &9 59 &85

2015

m
I
:

CHe

40
19

9] 26.4%%1

(9l $8, %)

20154
=59 HS CODE 20144 o == HIE
Az, Bt 7|AR 84 5,640 1,843 —-67.3% 26.4%
=M= 73 840 622 -26% 8.9%
HE EX I=, SYUE YXEHR 59 130 602 363.1% 8.6%
SHAE O ME 39 645 506 -21.6% 7.2%
AF A EE 87 536 466 -13.1% 6.7%

Bate] Hel A £ BRE &7, ofF. YT 59 =

38.2%% 1,645%t EEE 7=

A& HS16)o|H AA| U<

OAAE 19] F5old 115 & 71 A EHS 4002 55% & o= HAa
B 11-25] HEi= 49 59 +=2UEF
(A9 $H, %)
=59 HS CODE 20144 2015
i = L) 528 HIS
|5, 07, 4457 S =HE 16 16,295 16,458 1% 38.2%
128 O XNS 40 27,682 12,408 -55.2% 28.8%
SCAE S O HE 39 2,556 2,243 -12.2% 5.2%
A, otal, A=l ZXE 20 337 2,177 546% 5.1%
L2, LIEXNE, SH 44 666 1,880 182.3% 4.4%
Xtz : Ministry of Commerce, GTA
HZ S82 =29 119¢ =& M=% FX| =212 0.002%, 979 == UE=2= A 52| 0.04% HR
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Mu
Ho

5) #-Aztold
[0 HE=0f Ho 14EA

SELERCER R

K

tHe)

10
18

AbA
[eNe¥]

A= O
TE=

M 69 W=

H 11-26] 20154 H<LI240[Lt w A%

509% 57t 2029 B3, U2 223% S7Fe 3,373%
gejol, & F2E 3,576 = St AA 2] 0.57% i

(9 : $F, %)

S50 25 s L2EYE 2012%|
3 sus 29 sus 29 HIZ 39
2,021 509 33,739 223 35,760 0.57 -31,718
AzH GTA

40,000

35,000

30,000

25,000

20,000

15,000

10,000

5,000

0 -

=28

26

(22 1-13] Y= HeT2H0|Lt B9 £0|

26,336

H

2009

GTA

2,708
BIS(IE)
2,495 629

1,362

2011

2012

2013

P
m°

i
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1667 FH = 4] 6066% S7FetAA A =& S7HIE A
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CHe

40

53] #eAztoly H +EFE2 7IE SFetAIE(HS 38)01H Al &2 82.4%%

[E [1-27] #23240|Lt 42| 59 255

(1 $T, %)
259 HS CODE 20144 o 2;1,::; e
7|E} St8tHE 38 27 1,665 6066% 82.4%
e, omI|7), BE 92 52 151 190.4% 7.5%
Z2AE, 0BI7|, 8 39 4 58 1350% 2.9%
#HI S, 0w, :Dﬂxﬂ 35 0 36 - 1.8%
= 8E 30 0 31 - 1.5%

B3te] oot Ay £YBEL Y37 L »

2,268 G E 7|E

[B 11-28] ¥ 23210|Lt &%

o] A IT
9| $oiE

E(HS 88)2.= HA| =J2] 67.3%<!

(T2 $H, %)

E=2H HS CODE 20144 25

=7 = ol s1s HIS
57| Y 1 82E 88 0 22,689 - 67.2%
MNESYo| MiE 11 7,637 10,141 32.8% 30.1%
X} THA, B 0|0FE Al 12 552 493 210.7% 1.5%
SAEY A 2 ZoliMrE 15 33 116 251.5% 0.3%
HsE Xet MAHE S 04 77 66 -14.3% 0.2%

A28 0 GTA
H ES%t2 2320[Lt2] 1112 £UA=ZOZ MA £212/0.01 %, 756% +=2UAN=2Z MA ££2| 0.09% M&

27



6) it
O ©EE 790M 124 &5, 69 9=

O B Bt £35S 26% FAT 29908 2, $YL 97% A% oW Y. F
TS 3,009 FEl2 Bt 44 el melo) 0.6% HR

[H 11-29] 20154 HOTF WS HA

(2 - $H, %)
Sste| += S5to| ¢ SAEA L= BN |
=4 BSUE =4 BSUE = HIS =
29,899 -26 97 -97 29,996 0.48 29,802
X2 GTA
(2% 1-14] A= Hryet 2% %0
(9 : $7)
60,000
50,000
10,518
40,000 2,955
30,000 14,031 97 oy
H4E

ARVA

20,000 7 37,497

29,899
24,721

10,000

0 - . . . . . .
2009 2010 2011 2012 2013 2014 2015

A28 0 GTA
0 %0 2% 2533

O #HUT Y +&F52 FE4dR, FEFES 27)01H g2 A4 +=9] 81.3%
24,327 @22 ] 18% d4 Ald

N

9= 3,598 715309 d3(HS72)2 7IEHAIEHS 96)=Hd Hrez 93 yil, &

O 1= =
4 BE&I(HS 62,61)0] 27 4, 595 24|




2015\ 53 QIR 4
H [1-30] U o2 68 5253
(19 $3, %)
- 20154
== HS CODE 20144 oy =u= e
FEY0E, =R 27 29,737 24,318 -18.2% 81.3%
g, 8, EAR AL, M3 A|HE 25 5,940 2,953 -50.3% 9.9%
SXI0L A, BY- 0|8 Al 12 1373 1,446 5.3% 4.8%
O|F/SEZ(MH2[0FA, EIHEHEHE <) 62 513 998 94.5% 3.3%
O|F/24Z(H2/0FA, EHEHEE) 61 234 79 -66.2% 0.3%
AEH GTA
O F2 =2 g
O 201549 HvE PR 105 D =E0 2 F7
FEH, A5AE golo], @, Wrke 5 Iz divk £99) 80-90%F AAAA F8
%%%Ol AR Ao] 2 JFoz BA
O vk o +YEEL A=8-F(HS 30019 WA 9] 20.6%<1 29 2
[H I-31] HOT &2 68 +UES
(E19]: $3, %)
20154
oo
=298 HS CODE 20144 ot =a= HIZ
=EE 30 0 20 - 20.6%
H71717], 2, Go4H 2 2EZ 85 42 19 -54.8% 19.6%
IS =S L= 21 0 18 - 18.6%
IS, MIX S 34 29 12 -58.6% 12.4%
&gl 2=7|7|, B= 90 2 6 200% 6.2%
Atz GTA
HIT 25t Cforo] 899 49) hAZOIXE M) £2120] 0.01% MR, 2129 25 A=Y

29



20151 S0 QIR 5%
7) 37tE=

O HAE 69014 157 512, 79 moi=

O Ejte] WA7IEE +52 1,052% S7I- 133%F 99, U2 42% A4t 2,843
gl & 27 2,977 22 Hote] AA| ti 9] i 0.48% Hr

H 11-32] 20154 #A7HEE W AX

sate| 25 sate] 29 2598 2927
29 528 2y 29 HIZ 2y
1,336 1051 28,437 29,773 0.48 -27,101

X2 - |E Singapore

[12 [1-15] YIS $HAVIEE nY 50

70,000

60,000

50,000

e

40,000

30,000 55,385

(]
P

14

59,326

47,777

48,617

20,000 39 281

10,000

o- 1.860 720 761

1,515 '

2009 2010 20M

X2 - |E Singapore
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0 2 224 45

roh
ob

O HAZIEZE HY +EE52 T2 4, TH-9JFE AEHS 12)°]H HAA &2
91.6%%Q1 1229+ @& & AdiH] 339% =7}

[E I1-33] HYIEE 49l +E5F

(1 $7, %)
20154
F-4-] L
=38 HS CODE 20144 oy =2= HIE
SNt I, SY-2%E M= 12 279 1,224 339% 91.6%
OF, &4%F SHs=E S 03 112 112 0% 8.4%
HAIE, 22 7|IAF 84 4 0 -100% 0%

Xt=Z Y - |E Singapore

O HAZIEE | AE=-2 FHI(HS 24)o1™ AA| =42 45.7%21 1,3005 EE= AATHH]
45.7% 4
- A F2RE Y 2B BEEHS 7308) 9] At £&0] BHAsta, AR, FQ1A], SMT,
Z87], vpF, Sk, 7HEw 53 22 FAAA v@7|4 7MY 71T 2 BEEHS 7321)
£%0] 1,200% Z715HAA “ERAEMHS 73) E= £&0] HA 2,600% 57HgH

B 11-34] HAVIEE 42| 59 +28F

(T2l : $7, %)
=59 HS CODE 20144 2015
=Y BUE HIZS
=L 24 27,857 13,005 -53.3% 45.7%
30|, X 2 2 MS 48 11,814 8,043 -31.9% 28.3%
e, HE, BExx 5 56 4,230 3,323 -21.4% 1.7%
20|l I ME 76 1,892 1,257 -33.6% 4.4%
SCAEH J I NE 39 990 778 -21.4% 2.7%

Xt= @ : IE Singapore

HIT  S5H AZFE209| 1439 £QITHAR0IX}, 1169 SE5HARY

31




8 Zd

O FAZ0) Hl5h 72 4%, F2 1074 D0 473

O Bae] HYe W $50) WHE 47 FeolH 149,150% S 371 5978 2ol 7|
st 109 o] A7 SUS AEst viagt 15088 2. F FRE 2,19
whgele B A4 o2l 199 0.4% 8%

H [1-35] 20154 #EH|H 01H AN

— =

(9l - $8, %)

sote| 25 sto] 29 +89 292
29 5718 39 5712 29 HIS 239
5,970 149150% 15,998 0% 21,968 0.35% -10,028

A28 GTA

[22 I-16] Y HZ2|H 1 0]

—

(9 $3)
25,000

20,000

15,000

P
°

i

22,924
10,000

19,894

5,000

6,916

1,450

2009 2010 2011 2012 2013
X2 GTA

2014 2015
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CHe
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$29] 40.1%2 239%F &

Aotk 20159 MEA =HE A

[H [1-36] HEZH &2 6% 555
(H9] - $H, %)
- 201544
=53 HS CODE 20144 oy =ug HIE
=F 72 0 2,392 - 40.1%
SCAEH 3 O NE 39 0 774 - 13%
A O ME 78 0 708 - 11.9%
SIEHIE, Has, SERES S 28 0 250 - 4.2%
0|, BX 2 O HE 48 0 223 - 3.7%
A28 0 GTA
0 32 E29 00515
O ¥ MW o) Y=<l Fo, WA P T AE(HS 48)= AA $9 26.1% HlE 2],

AEE 2009 @30 A 20159 4185 2 100% ©AF 715k 1912 AY

O &ol, A & 71 A FHS 48), F3t A =77]7], & (HS90)°] & o= 57t

B [O-37] #HE2H &2 68 +2UES
(911 7, %)

=29 HS CODE 20144 20154
2 528 HIZ
SO|, A H 1 Hln 48 2,009 4,183 108.2% 26.1%
&of, 9=7|7]|, & 90 890 4,029 352.7% 25.2%
AlEH, ?ﬂﬂfv 08 4,759 1,912 -59.8% 12%
027 99 0 853 - 5.3%
SAEY RAH FolidiE 15 610 722 18.4 4.5%

A=z GTA

Lol 579 49 RO HA| 42

| 0.02%, 38% =&

y=o=2 MA &2 0.09% XHXA|
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offl

&

9) ut7| A%t

O <

A0 Hol 1A ot=, A =

&= 3 9%l RHX|

O 53] W] A8k 52 16% S71Rt 2,080% 28 E 7|53 oY, 9 5942 AF5

21082 Yehd. & 7117t 2,080% 228 HIAA tfe] A 0.33% AHA]
E 11-38] 20154 $HI7|AEt 1% MK
(91 $7, %)
sate] 25 Sste] 29 259 2 2027
3 5718 29 5718 2y HIZ 2y
20,802 16% 0 -100% 20,802 0.33% 20,802

A= : Federal Board of Revenue
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(O3 I-17] A HOF|A

EF 29 50|

70,000

60,000

50,000

2012

A= : Federal Board of Revenue

2014

2015
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2015\ S0 QIR S
O 2 &34 5%
O &3] Hup7| A% A £E2F2 77|28 HAIE(HS 29) 2.2 JAA| =59 37.4% AHA]
H [1-39] 7 |AL 4P 6% +EES
(SR : $H, %)
=E=9 HS CODE 20144 20154
= i 3% sus HIZ
R7|2ENE 29 603 7,770 1188.6% 37.4%
QIZAHOIZMR bb 2,263 2,069 -8.6% 9.9%
e gl 7 XF 51 843 1,859 120.5% 8.9%
SCAE S O HE 39 1,325 1,684 19.5% 7.6%
gz, otg, HRIE 32 541 1,445 167.1 6.9%
X2 ¢ : Federal Board of Revenue
O =L =49 e
O 20159 &3te] Hup7| Atk 942 0 YEE
[E [1-40] #II7|AE A SUES
(2 - $T, %)
— . 20154
=53 HS CODE 20144 Zof == HIE
LdEHNRE, H2R 27 15,999 0 -100% 0%
H 52 61 0 -100% 0%
HAUBEEE 95 1 0 -100% 0%

X2 9 : Federal Board of Revenue
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20158 SCHUHIRR Y
10) &%
O MU 1290M 2EA dsol =f1H I

O &53te] HEF 52 41% 5713t 1,498%F 28, U2 37% 74Tt 4984 ¢
TE= 1,997% 2= AA 7Y 0.32% H+
[H 1-41] 2015 #HE3 0 4N

(91 $3, %)
Sato] 25 s3to] 29 259 2 2o27]
39 stz 39 stz 39 HIS 39
14,985 41% 4,987 -37% 19,972 0.32% 9,998
Azl 8FFHLT=
[O0F I-18] A=E HL2E W X0
(Sl - $%)
140,000
120,000
100,000 11,977
57,951
80,000 o2l
mss
60,000
92,253
40,000
58,754
20,000 26,215 4,987
7,922
0 - T - T T
2009 2010 2011 2012 2013 2014 2015
e

36



2015

m
I
i

CHe

40
19

0 70 224

ﬂH)il
roh
dlot

O HEF At 5% BBL 1A, ATEF (HS7Do|H £29L 6045 I AF) 5
77% Z}A|
[H 1-42] #23 &8 5% =553
(Ch2l - $T, %)
- 201544
=23 HS CODE 20144 oy =ug HIE
24 HaEF 71 6,046 11,538 90.8% 77%
SRR oA, BY- oA AE 12 793 823 3.8% 5.5%
o7 U4UR, drs=E S 03 178 685 284.8% 4.6%
S0, X ¥ I HS 48 183 562 207.1% 3.8%
SSAE Y O HE 39 111 326 193.7% 2.2%

O #{EF Ao £UZEochl|(HS 24)0]w AH| 2229] 58%°] 2894+ Zej& AWt 4] 14.6%

[E 11-43] #23 49 59 Q=S

(9 : $7, %)

=29 HS CODE | 20144 20154
3% su8 HIZ
EftH 24 2,521 2,890 14.6% 58%
Az, 229t 7| AR 84 511 896 75.3% 18%
H717171, 88, BHAH L 2B 85 1,044 225 ~78.4% 4.6%
2T HEEE 95 1 179 17800% 3.6%
= BT S 94 126 137 8.7% 2.7%
XNEH  BEPUT
HT 23S £39) 979] £ HAR0IX, 1669 45 (AR
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[0 20154 Sot9| tHR|FY #2= 18% d48t 62.59 H2f 7|5

2 95 ort R A Ad
| AR EE 74
15%, 20% ZrAst9a T IAA L 33% 7H43H 8.589 HEE 7|2

= At 5 U5 38 $£2%9 @t sty gl 292 F3F A7|1-A

HY-=25MZ 7138 WY AX= Afxl= Hebt geu E=2t

12

O il = F5A AY, 4%t 5 F=4 13 A5 A9 4] 8.1% A4t 10.8% 222
A &M 9] HlFol 40.2% B2 53], 2F(HS code 61, 62) T2 F2 F5 F
TS 2o o]0 5.5%°] F7He= HAAL, A 2ol v Eot 2 24.1%C714
29.7%= S = o] F24 A5 A HIY 55 A

O % A F=A WAE, ArAE, 71A-A71-AAAF0l dRES AFR1(49.3%). 714
A717171(HS 84,85)= =7 Ak, ARAERe A 5349 30 +=U4F52 A9E

FA]

[©)

=

O #35= FH2ER 0101 90% 3|

O 53] HF= FAYSIL= 20059 50%E HolAl ol X&H e Friste] Az
oo 21 <% 90%= 3]

O U = 8 2.89422(20149 9] % 5%= WF)E ALtttz 90.9% +E=
FA

O =AAE] AR st Ae] a2 TSt Al AA| 2 AT
ATARN oA, FA=olehe w9 Hol4, 5
AAA o2 2 of, Ht tfefide] fFUF2 A& Aoz AT

rm
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2015

r
4o
re

tHey

40
19
ol

%

RZ#H| wato] o= tho] 2o o]

(91 : 7, %)

o + 8 + ¢ 5 2o2]
2 sus 2 sus 2 sus 2
1991 945,000 -455 1,639,000 -32.7 2,584,000 -38.0 -694,000
1992 933,000 -1.3 1,622,000 -1.0 2,555,000 -1.1 -689,000
1993 990,000 6.1 1,656,000 2.1 2,646,000 3.6 -666,000
1994 858,000 -13.3 1,242,000 -25.0 2,100,000 -20.6 -384,000
1995 736,008 -14.2 1,315,913 6.0 2,051,921 -2.3 -579,905
1996 726,676 1.3 1,249,617 -5.0 1,976,293 -3.7 -522,941
1997 904,601 245 1,272,253 1.8 2,176,854 10.1 -367,652
1998 559,331 -38.2 882,863 -30.6 1,442,194 -33.7 -323,5632
1999 514,962 -7.9 964,585 9.3 1,479,547 2.6 -449,623
2000 556,326 8.0 1,413,211 46.5 1,969,537 33.1 -856,885
2001 650,208 16.9 1,620,291 14.7 2,270,499 15.3 -970,083
2002 734,992 13.0 1,525,396 -5.9 2,260,388 -0.4 -790,404
2003 776,992 5.7 1,614,382 5.8 2,391,374 5.8 -837,390
2004 1,020,200 31.3 1,836,911 13.8 2,857,111 19.5 -816,711
2005 998,392 -2.1 2,003,286 9.1 3,001,678 5.1 -1,004,894
2006 946,795 -5.2 2,049,008 2.3 2,995,803 -0.2 -1,102,213
2007 918,771 -3.0 2,022,306 -1.3 2,941,077 -1.8 -1,103,535
2008 1,130,213 23.0 2,685,478 32.8 3,815,691 29.7 -1,565,265
2009 1,062,786 -6.0 2,351,032 -12.5 3,413,818 -10.5 -1,288,246
2010 1,513,631 42.4 2,660,773 13.2 4,174,405 22.3 -1,147,142
2011 2,789,351 84.3 3,667,708 34.1 6,357,059 52.3 -778,357
2012 2,880,104 3.3 3,931,173 10.2 6,811,277 7.1 -1,051,069
2013 3,218,382 1.7 4,126,404 5.0 7,344,786 7.8 -908,022
2014 3,164,650 -1.7 4,446,231 7.8 7,610,881 3.6 -1,281,581
2015 2,696,538 -15 3,555,278 -20 6,251,816 -18 -858,740
A2 KOTRA, 2= 7|2

F) SAY7L E715E 42t SASX| M0 2RIt U= Kz SH 2494 HE
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2015

m
I
i

CHe

40
19

M2 were] 529 2%

(29 8, %)
e S350 £ S3t0 2o

20144 20154 SUE 20144 20154 SUE
A 3,164,650 | 2,696,538 -15 | 4,446,231 | 3,555,278 -20
01 == 3 0 -100 398 349 -12.3
02 AlgsR 0 0 - 13,434 8,842 -34.2
03 0=, &%, Axs=E S 144,034 112,009 -22.2 76,287 88,170 15.6
04 Y=s, 28, MAE S 15 0 -100 8,093 6,940 -14.2
05 7|Et 324 diitE 1,760 919 -47.8 27,378 13,803 -50
06 tt==0t 7|EHAIE S Q1BHE S 280 649 131.8 862 1,115 29.4
07 AExl4, 712 10,983 12,225 11.3 11,988 12,475 4.1
08 A1, Atz 111,867 43,052 -61.5 41,746 60,313 44.5
09 70|, X}, ez 1 1 0.0 35,744 18,400 -48.5
10=5= 51 45 -11.8 61,142 16,590 -72.9
11 M2 dits 632 1,545 144.5 47,230 21,149 -b5.2
12 Aot it 3Y-UB A= 15,123 18,764 241 4,112 7,165 74.2
13 0fu, =X H 7[Et MEd o, & 53 943 1678 3,434 5,243 52.7
14 A28 BXEESE M= 230 147 -36.1 363 258 -28.9
156 SAEY RAI & Zoidi= 645 645 0.0 113,907 106,355 -6.6
16 2% 0F, 4R S ZHMZ 954 965 1.2 34,788 26,641 -23.4
17 3% & S5kt 3 181 5933 8,496 8,982 5.7
18 ZTO0I} 11 &M 1 0 -100 2,749 2,081 -24.3
19 22, TF, RAZ, HOIAZ HZ 34 130 282.4 17,621 14,054 -20.2
20 &2, 2Hd, AMFO| ZHIF 105 62 -41.0 2,219 5,781 160.5
21 7[Et=N M =S 91 84 -7.7 14,774 19,596 32.6
22 88, YIS Y AMx 461 429 -6.9 31,881 16,108 -49.5
23 MESY Ll URS/AU0IAE 1,165 841 -27.8 27,516 18,629 -32.3
24 i 1,299 2,978 129.3 63,356 41,240 -34.9
25 43, &, BEMF S A1, M3 A[HE 50,591 50,298 -0.6 17,970 22,324 24.2
26 &, &3 & 3 339,360 204,662 -39.7 32,867 145 -99.6
27 3289%, =R 1,178,023 | 1,083,096 -8.1 747,064 502,912 -32.7
28 F7|ISNIZE, Hash, SERES S 19,513 13,146 -32.6 23,013 18,780 -18.4
29 R7|=etNIE 9,009 13,918 54.5 24,532 19,616 -20.0

41



2015 S¢HURIRR Y
. S3to| £5 S50 49
20144 20154 | =28 | 20149 | 20154 | =zE
30 222E 5,332 3053 | -42.7| 31,009| 33907 9.3
3182 997 1549 | 55.4% | 32,182 | 19,614 | -39.1
32 92, o1&, HRIE 2,081 2820 | 355| 23598 | 19724| -16.4
33 ZHR, SIHER 1,059 391 | -63.1 11,380 9,662 | -15.1
34 Hlt, HIE S 1,474 934 | -366| 21516| 16386 | -23.8
35 223, 0, S04 162 501 | 209.3 8,258 7878 |  -46
36 319, S5t 327 23| -93.0 121 95| -215
37 NS E= H3E M2 83 187 | 1253 999 704 | -295
38 7|t 3f5HHIE 12,268 7624 | -37.9| 22332| 17.829| -20.2
39 ZatAE 2 O HE 22,312 19489 | -12.7 | 199,263 | 175196 | —12.1
40 12 2 I HE 11,720 4973 | -57.6| 114395| 88754 | -22.4
41 n|ef 745 735 145 | -80.3 5,734 2564 | -55.3
42 JIEHE, R, ST 412 1,047 | 1542 | 10,610 7769 | -26.8
43 2], QXD 2 I K 11 20| 818 6315 7968 | 262
44 U2, U9 HIE, SEt 19,541 21,887 120| 18997 | 21,671 14.1
45323 0 0 - 11 - | -100.
46 3, IAIZE E= X2HE 155 200  29.0 24 9| -625
47 BT, HX| 0 13 - 2,684 1881 | -29.9
48 0|, TX| 2 I HZ 5,111 3881 | -24.1| 67,129 | 67.418 0.4
49 QA M2, T|EL QIMS 333 248 | -255 338 216 | -36.1
50 74 1,110 520 | -52.3 237 192 | -19.0
5192 2 12 869 1880 | 1163 | 17112 | 15271 | -108
52 o 1,692 3501 | 1069 | 34075| 31787| 6.7
53 7|EH A2 WA Q9 1 &2 2,189 2172 |  -08 5,759 4939 | -14.2
54 QIZZRIHENS 5,314 2582 | -51.4| 166757 | 152,135| -8.8
55 OIXAF|0|ZAQ 3,546 4412 | 244 96517| 63340 | -34.4
56 Y, WE BHXY S 2,807 4330 | 543| 60524 | 44708 | -26.1
57 QERIZO} HIEZN 1,177 1,161 1.4 3,116 1394 | -553
58 S4%2 8,220 4140 | -496| 43807| 41387 55
59 HE, B, I, 2 WXSHR 2374 4250 | 79.0| 36395 | 34622| -4.9
60 BI2IOIABS T} I HHE 1,239 805| -35.0| 89.785| 75472| -15.9
61 OIR/SAR(M20rA, THEBE) 119592 | 166,489 |  39.2 | 116255 | 98463 | ~-15.3
62 O|2/SAE(H2|0MA, THEESY)) 642,076 | 637,118 | -08| 39949 | 34397 | -13.9
63 YEBNQO| 7|EtHIZ 1,091 1783 | 634 | 38064| 31364| -17.6
64 Mtz 79 240 | 2053 | 65179 | 36,027 | -44.7
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2015\ 29t (o] et Sur
. Sito| +5 S3to] 29|
201444 20154 | zzE | 20144 | 20154 | zzs
65 ZAt= 1,683 2,009 26.9 1,883 2,903 54.2
66 24 X|HO|, AE S 9 0 -100 2,470 2,404 -2.7
67 MR EE 2 O HE 728 941 29.3 906 1,410 b5.6
68 A, S2tAH, AHIE S| MS 904 590 -34.8 11,758 13,295 13.1
69 =XH| 772 60 -92.2 48,921 52,141 6.6
70 |22t FEIHZ 5,569 5,492 -1.4 22,157 20,453 =-7.7
71 B2M, AF3E=F 13,277 14,369 8.2 2,209 1,703 -22.9
72 BY 133,303 66,229 -50.3 110,034 112,929 2.6
73 ELHE 7,923 4,594 -42.0 72,501 64,157 -11.5
74 St 1 ME 17,515 12,988 -25.8 9,689 5,678 -41.4
75 LAL T ME 615 123 -80.0 60 152 153.3
76 Y201 O HE 12,225 5,551 -54.6 26,157 28,829 10.2
78 At 1 ME 2,678 1,398 -47.8 8,704 5,709 | #DIV/0!
79 OfH2t I MF 46,314 7,229 -84.4 1,400 2,306 64.7
80 =M1t 1 ME 0 60 100 332 196 -41.0
81 7|Eft HIZSHE 107 110 2.8 268 214 -20.1
82 HIZ&AS 3+, =+ 665 514 -22.7 11,278 8,444 -25.1
83 HIZEHQ| Z4EHE 2,097 1,962 -6.4 19,491 15,582 -20.1
84 A2, EU2e} 7|HF 32,478 17,167 =471 329,034 263,397 -19.9
85 T71717|, 2, S44H ¥ 2EEE 84,483 62,512 -26.0 424,947 335,469 -21.1
86 E, H=& 7| &AL MSHH| 52 1,611 2998 13,627 5,600 -58.9
7T AN H I EE 6,714 3,501 -47.9 231,264 197,870 -14.4
8BS/ H I EE 50 116 132.0 1,058 22,959 2070.
89 Mutut MR E 11,139 2,013 -81.9 13,723 2,895 -78.9
90 &8, 9=7|7|, BE 7,130 7,300 2.4 27,247 20,728 -23.9
91 AN BEEE 141 53 -62.4 7,067 3,365 -52.4
922 7|3 BEEE 1,901 1,372 -27.8 2,384 2,009 -15.7
93 27| 32 244 662.5 127 48 -62.2
94 7t1, i & 1,669 621 -62.8 57,031 43,687 -23.4
BATYUERE 1,193 852 -28.6 10,773 7,006 -35.0
96 7|EtMIZ 366 1,717 369.1 58,643 48,773 -16.8
97 Hl&& 18 4 -77.8 4 - -100.
99 OIE= 7,225 7,125 -1.4 33,702 14,168 -58.0
A3 KOTRA, 2= 8417 |

F) SAY7t E715T AR SR M0 2 M7t U= Az SH 244 HL
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2015\ 5% QTS Y
I
NEM| marel 29 259
(H21:$H, %)
+E +¢ FY+X A
=9 =8 =9 s4E =94 S4E =94 20154 HIS
EXl 2,696,538 -15 | 3,655,278 -20 | -858,740 | 6,251,816
1 | &= 2,483,944 -13 | 3,226,464 -20 | -742,520 | 5,710,408 | 91.34
2 | 2Alot 6,043 -41 78,328 -5 | -72,285 84,371 1.35
3 |2k 22,697 -28 53,831 -4 -31,134 76,528 1.22
4 | H= 6,983 -63 43,042 -25| -36,059 50,025 0.80
5 | f3210|L} 2,021 509 33,739 223 -31,718 35,760 0.57
6 | CHE 29,899 -26 97 -97 29,802 29,996 0.48
7 | QR= 1,336 1052 28,437 -42 -27,101 29,773 0.48
g | EaH 5,970 149150 15,998 0 -10,028 21,968 0.35
9 | IFIAE 20,802 16 0 -100 20,802 20,802 0.33
10 | 83 14,985 41 4,987 -37 9,998 19,972 0.32
11 | HiH~&et 13,648 35 310 100 13,238 13,858 0.22
12 | 8t 5,960 0 5,960 0 0 11,920 0.19
13 | =¢ 1,492 -90 8,061 -38 -6,569 9,553 0.15
14 | gots 4,812 221 2,709 -21 2,103 7,521 0.12
15 | 227t 5,864 -45 1,354 60 4,510 7,218 0.12
16 | E2H3 4,409 -40 2,482 -89 1,927 6,891 0.11
17 | 74 6,480 100 0 100 6,480 6,480 0.10
18 | 2F2tA 2,842 -32 3,620 -70 -778 6,462 0.10
19 | B7I 1,685 50 4,639 -19 -2,954 6,324 0.10
20 | O|FE 5,641 -64 278 -83 5,363 5,919 0.09
21 | ZelOJAO 1,310 856 4,516 102 -3,206 5,826 0.09
22 | E0|Y7tss= 5,077 46055 243 4760 4,834 5,320 0.09
23 | AA 0 -100 5,278 44 -5,278 5,278 0.08
24 | Y=EtHAl 4,990 -90 142 -50 4,848 5,132 0.08
25 | 7tEt= 771 -49 4,270 100 -3,499 5,041 0.08
26 | HEEE 2,453 -63 2,448 -8 5 4,901 0.08
27 | 0= 0 100 4,752 -80 -4,752 4,752 0.08
28 | WAZE 3,525 -66 389 -60 3,136 3,914 0.06
29 | BFA 330 -53 3,333 251 -3,003 3,663 0.06
30 | AEHA[O 2,603 67 1,040 -26 1,563 3,643 0.06
31 | REH|I= 3,456 =17 0 -2 3,456 3,456 0.06
32 | Ot=23llE|L} 2,183 -2 1121 -20 1,062 3,304 0.05
33 | =SHIot 3,247 -46 0 -5 3,247 3,247 0.05
34 | o2t0| 3,230 -31 0 -4 3,230 3,230 0.05
35 | ZAEMFt 2,657 -26 71 -25 2,586 2,728 0.04
36 | Ea 648 -73 1,987 223 -1,339 2,635 0.04
37 | X 2,122 -21 0 -97 2,122 2,122 0.03
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20154 S HRIRSH 5
=E =g FEHEX i

=4 =3 =4 T SLUE =4 B SUE TE.“—’:.; l 20154 : HIZ

38 | O|Ef2|0f 390 -31 1,649 -42 -1,259 2,039 0.03
39 | 2=20tE/Ot 1,970 134 68 0 1,902 2,038 0.03
40 | DHE|I2t 437 -76 1,219 -100 -782 1,656 0.03
41 | 35 824 10200 692 -37 132 1,516 0.02
42 | AO|ZRHA 55 112 1,123 100 -1,068 1,178 0.02
43 | FHE 11 -31 1,153 0 -1,142 1,164 0.02
44 | BHHIEZ 1,148 46 5 -38 1,143 1,153 0.02
45 | =7t2(0f 0 -100 1,116 -21 -1,116 1,116 0.02
46 | IIF 297 -46 580 60 -283 877 0.01
47 | 223 653 100 202 -89 451 855 0.01
48 | ZECROIE 324 100 499 100 -175 823 0.01
49 | A2l 507 -30 274 -70 233 781 0.01
50 | =2H[ot 735 100 0 -19 735 735 0.01
61 | Rt 487 100 97 -83 390 584 0.01
52 | ¥= 273 -59 279 102 -6 552 0.01
53 | |0 150 206 340 4760 -190 490 0.01
54 | HetgEA 123 -70 366 44 -243 489 0.01
55 | Jgla 0 -100 398 -50 -398 398 0.01
56 | =9t} 390 100 0 100 390 390 0.01
57 | Y7ttt 356 100 0 -8 356 356 0.01
58 | HIOH= 42 -b2 312 -80 -270 354 0.01
59 | HELOt 47 -34 306 -60 -259 353 0.01
60 | LAEZ|0} 120 -2 161 251 -41 281 0.00
61 | MulZ 221 100 0 -26 221 221 0.00
62 | ALk 134 -40 78 -100 56 212 0.00
63 | = 40 -79 160 22 -120 200 0.00
64 | F140] 187 -32 0 -100 187 187 0.00
65 | 2feA 132 100 35 100 97 167 0.00
66 | LTt 144 122 0 -87 144 144 0.00
67 | AYE 28 -13 100 -57 =72 128 0.00
68 | FIAISAE 90 -65 0 100 90 90 0.00
69 | &7t 41 1950 40 34 1 81 0.00
70 | 2tEH|0f 0 100 78 -16 -78 78 0.00
71 | ot 72 -89 0 192 72 72 0.00
72 | £=2H}7|0t 39 100 10 15 29 49 0.00
73 | =HUI=2 31 100 0 52 31 31 0.00
74 | BEIHA 19 100 0 333 19 19 0.00
75 | MZ 0 100 8 -82 -8 8 0.00
76 | #2|x 4 100 4 65 0 8 0.00
77 | Ot 2 100 0 -45 2 2 0.00

Az H : KOTRA, 2= 47|12
F) SAYU7 27158 4R SAX| M0 2H7t U= Aaes SH 244 HL
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2015

r
4o
re

tHeI =

19
o
%

NE#H| Fo37ke] 289 £2(49 20712)
1. 3=
(T2 $H, %)
— S5t $5 S5to| ¢l

20144 20154 SUE 20144 20154 SUE
A 2,841,476 | 2,483,944 -13 | 4,022,515 | 3,226,464 -20
01 == 0 0 0 0 92 -
02 AE8s7 0 0 0 13,169 8,592 -34.8
03 0=, &R, AXs=E S 143,257 108,475 -24.3 73,291 84,834 15.7
04 H=5, 28, THE S 15 0 -100 1,864 2,144 15.0
05 7|Et 324 ditE 1,720 919 | -46.6 27,315 13,803 -49.5
06 L==1t 7|EHAE H 21FHE S 266 649 144 703 1,071 52.3
07 MExl4, 712 10,954 12,225 11.6 8,168 12,402 51.8
08 AMZntd, AR 111,277 43,033 | -61.3 31,945 54,385 70.2
09 A0, X}, etz 0 0 0 22,705 12,540 -44.8
10 5= 40 0 -100 43,406 13,863 —68.1
11 M2 dits 611 1,494 144.5 38,248 7,817 -79.6
12 SRt Ihe, SY- 242 AlE 12,886 15,183 17.8 2,676 4,942 84.7
13 Otul, =X K 7[E} Al2d A, & 0 58 100 1,699 3,974 133.9
14 A28 HXESE M= 230 147 -36.1 341 187 -45.2
156 SAIEY RAI & Zoidi= 627 644 2.7 112,762 104,628 -7.2
16 |7, 07, U7 S =M 893 965 8.1 18,132 9,622 -
17 @7 & 28Xt 22 100 7,914 5,556 -29.8
18 ZTO0Iet I ZNIE 0 2,330 1,733 -25.6
19 =, 82, ®AIE, #0172 ME 0 17,089 12,614 -26.2
20 &2, 2Hd, AR 0| ZHIF 0 0 1,032 2,804 171.7
21 7[Ef=N M =S 43 1 -97.7 12,432 16,582 33.4
2288, YIS H Ax 370 345 -6.8 29,989 14,655 -51.1
23 AESY LM TRE/H0IAE 936 687 -26.6 25,602 16,023 -37.4
24 i 1,270 2,978 134.5 30,001 23,635 -21.6
25 &g, &, EMF 2 A4, M3, AIRIE 41,447 40,773 -1.6 15,290 21,752 42.3
26, &4 3 339,349 204,662 | -39.7 11,835 67 -99.4
27 ¥28%9%, =R 1,146,386 | 1,057,042 -7.8 691,431 427,294 -38.2
28 RI|eetNIE, Has, AERES S 12,079 4,818 | -60.1 21,641 18,509 -14.5
29 R7|3HEtNIE 14 0 -100 18,448 18,973 2.8
30 Y =EE 11 0 -100 24,198 24,905 2.9
31 Hl=z 995 898 -9.7 32,043 19,608 -39.1
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20154 S LR|0) S
P g5t +& 85t ¢
20144 20154 3UsE 20144 20154 SUsE

32 9=, otz OIRIE 6 141 2250 16,048 18,329 14.2
33 MR, SHHER 667 130 -80.5 9,762 8,321 -14.8
34 Hl%=, MA S 0 24 100 20,479 15,487 -24.4
35 HHMESE, Ot ZOHA| 2 0 =100 7,522 7,489 -0.4
36 I, sHetNIE 0 0 0 43 95 120.9
37 AMEIE E= FEE = 0 0 0 998 683 -31.6
38 7|Et BFINIE 4,733 3,433 -27.5 20,144 14,999 -25.5
39 EHAE LY I ME 1,307 1,138 -12.9 193,431 168,037 -13.1
40 12 2 I NZE 0 1 100 85,970 75,296 -12.4
41 |} 7t= 353 2 -99.4 414 322 =22.2
42 71E5HIE, (g, =t 239 903 277.8 10,115 7,526 -25.6
43 2], 91X O 3l 7 HE 8 14 75.0 6,292 7,921 25.9
44 LI, IR XS, SE 19,485 21,712 1.4 14,273 16,138 13.1
45 F23 0 0 0 0 0 -
46 X QALIZEE L= X2HE 155 200 29.0 3 9 200.0
47 O, X 0 0 0 598 530 -11.4
48 B0, HX| ¥ I ME 35 65 88.6 52,650 54,495 3.5
49 QIMMA MZ, 7|EF QME 9 1 -88.9 282 88 -68.8
50 A 1,015 525 -48.3 204 29 -85.8
51 42 I I XZ 0 2 100 17,074 15,091 -11.6
52 ™ 1 1 - 29,106 28,265 -2.9
53 7|Et AEH HAE MRt 1 AE 2,189 2,172 -0.8 5,717 4,836 -15.4
54 QIXTHEHEMR 90 34 -62.2 166,278 151,664 -8.8
55 CIZAHO|IEME 96 124 29.2 96,175 62,765 -34.7
56 Y4, HE, B 5§ 2,334 3,600 54.2 55,749 41,139 -26.2
57 LEHAZ 2t HIEZTY 1,177 714 -39.3 2,125 541 -74.5
58 E4XlE 8,133 4,043 -50.3 43,344 41,151 -5.1
5O AE CX IE SHE8 HASHR 8 45 462.5 36,384 34,621 -4.8
60 H2|oOfAESI IR EEE 47 32 -31.9 89,706 75,468 -15.9
61 9| F/EAE(H2|0FA, EHEHEE) 118,985 166,097 39.6 114,718 96,105 -16.2
62 o|F /2T (H2|0fA, EAHATHEL) 622,034 633,206 1.8 39,205 33,465 -14.6
63 XS MR 7|EIMZ 638 956 49.8 37,850 31,153 -17.7
64 A= 75 212 182.7 64,069 35,204 -45.1
65 ZAE 1,322 1,908 443 1,847 2,881 56.0
66 P4, XHO|, AR S 9 0 -100 2,470 2,404 -2.7
67 ZHREY EE 2 O NS 580 905 56.0 906 1,407 bb.3
68 M, Z2tAH, AJHIE S NE 9 3 -66.7 11,035 13,126 18.9
69 At | 19 9 -52.6 48,083 49,589 3.1
70 {2/t REMS 4,981 5,215 4.7 21,194 19,240 -9.2
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201513 St LQ|Roy S
S sate| 25 ssto] 29
20144 20154 54E 20144 20154
2 ASEF 7,015 2,588 -63.1 322 576
72 BY 89,598 52,996 -40.9 108,900 111,790
73 HUM= 123 242 96.7 71,383 62,585
74 S0 1 HE 16,520 12,642 -23.5 3,362 3,373
75 LA O M= 608 120 | -80.3 60 124
76 20|z 1 HZ 8,735 3,079 -64.8 23,712 25,373
78 At 1 ME 1,208 690 -42.9 209 11
79 OfAat 11 M= 38,443 6.162 -84.0 1,376 494
80 =4t 11 M= 0 50 100 332 193
81 7|Et HIZ&HIE 30 2 -93.3 262 86
82 Ha&X2 5, =7 6 46 | 666.7 10,623 7,815
83 HIE&H 2 ZEHE 36 7 -80.6 19,421 15,238
84 AXZ, HY2Qt 7|AF 950 629 -33.8 310,260 252,094
85 T71717], 2%, dEH X BEF 55,671 57,235 2.8 419,769 332,361
86 ., HI=& 7| &AL, ASHH| 0 0 - 12,974 4,795
87XH Y I RZ 0 0 - 210,517 196,189
88 21371 2 1 #E 0 0 - 247 253
89 It YA EE 4,069 2,013 -50.5 13,163 2,878
90 st 2=z7|7|, B& 1,230 1,163 -6.3 22,272 12,492
9T AA X BES - 0 - 6,935 2,814
92 97| A BEEE 33 57 72.7 1,809 1,772
93 27| 0 0 - 89 -
9471+, Bt S 29 69 137.9 56,313 42,980
05 &4 3 RS 667 478 -28.3 9,633 6,313
96 7|EtHIZ 88 100 13.6 58,410 48,550
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20154 E3t Uje| e Sor
2. 2{A|0}
(E91 : $7, %)
_— sato| 25 s3to| 29
20144 20154 SUE 20144 20154 SUE

=% 10,165 6,043 =41 82,174 78,328 -5
01 Ms= - - - 59 257 335.6
03 07, 447, SNs= S - 1,681 - 1,820 1,995 9.6
04 YsE, 22 MAB S - - - 12 17 a41.7
07 Mg, 72 5 - -100.0 - - -
09 A1, &, Bl - - - _ 3 _
10 5= - - - 12,954 2,720 -79.0
11 M2SYel MrtZ - 42 - 825 2,293 177.9
12 ZXf0t H, BY-0JoIR A2 - - - 80 98 22.5
16 SASY 9 o ZauAe - - - 138 77| 442
16 87, 07, 4U=F 39 ZHE - - - 6 42 600.0
17 9= 3 X} - - - 55 109 98.2
18 D0t 1 ZHE - - - 16 28 75.0
19 5=, ME, FAE, Ho|AHZ HE - 51 - 17 139 717.6
21 7| 2NA 2 E - -100.0 331 157 -52.6
22 85, ¢332 Y Mx 17 - -100.0 57 59 3.5
23 NEDY LY FRB/U0IAE 3 - - ) 3 -
25 A3, &, ENE U 41, 43|, AIE 130 7] 946 443 156 | -64.8
27 d28%=s, =R - - - 33,984 65,079 91.5
28 IISSIRIE, AL, slERT4 S - - - - 4 -
29 Q7|3t5tH|Z - 15 - - - -
30 =2EE - - - 192 458 138.5
32 gz, Otz HRIE 3 43 1333.3 28 10 -64.3
33 A=, SEEF 6 17 183.3 4 2 -50.0
34 HIS, MAH S - - - 116 7 -94.0
35 Ct= 23, of, SN - 2 - - 4 -
37 AR = YBIR Tz 1 - -100.0 - - -
38 7|E} 2EtHIE 29 - -100.0 20 22 10.0
39 E2AE 3 O HE 407 157 -61.4 13 12 =7.7
4017 H O HE 5 91 1720 18 22 22.2
41 At 715 - - - 238 - -100.0
42 7t5HIE, A8+, SHEH 10 2 -80.0 - 31 -
44 LR, LUENE, =H - - - 3,540 3,202 -95
47 IO TX| - - - 403 - -100.0
48 0|, ®X| ¥ I M= 1 - -100.0 55 2650.0
49 QIMMA, ME, J|EL QIAZ 14 5 -64.3 2 1 -50.0
52 ™ - - - - 2 -
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20154 S RIS S
_— 25t0] 25 25t0] 29|
20144 20154 SUE 20144 20154 SUE
54 QIRHEIHENS 3 265 8733.3 - - -
55 QIZAF|0|Z 4 - - - - 29 -
59 AE CH 12, 3US WABLR 3 14| 3667 - - -
60 HlZ/OFABS T Tof LTS - - - - 4 1000
61 AF/2EZ(H2(0FA, EAEEE) 15 19 26.7 - 42 100.0
62 T /RES(H2|0FA, EAEHE) 4,699 1,699 -63.8 15 4 -73.3
63 YEZHRY 7 [EtNIE 1 - -100.0 2 12 500.0
64 ME= - - - 6 13 116.7
65 EX& - 2 - - - -
68 A, SCtAH, A|HE S2| HME 4 - -100.0 483 2 -99.6
69 =Xt7| - 2 - - - -
70 ®22t REHZ 33 - -100.0 1 5 400.0
71 24, A3z : i - - - -
72 24 134 18 -86.6 184 7 -96.2
73 HLHS 209 18 -91.4 70 298 325.7
74 £1t 1 HZ 7 - -100.0 - - -
76 =051 1 ME 4 6 50.0 1 11 1000.0
82 Hlg&H e S+, = 1 2 100.0 7 60 7571
83 HIg@&H e Z4EHE 3 2 -33.3 5 2 -60.0
84 A=, HYe} 7 |HF 1,599 89 -94.4 7,865 232 -97.1
85 M7|717|, B, SLHH ¥ 2EE 673 251 -62.7 761 103 -86.5
86 T, =& 7|, AS4H| 5 323 6360.0 316 24 -92.4
87T AE H 1 2F 251 4 -98.4 17,027 63 -99.6
90 &<, 9=7|7|, B2 189 22 -88.4 29 135 365.5
91 Al U BEE - - - - 1 1000
2297| A BEE 1,374 1,076 -21.7 - - -
9471+, A+ 5 164 - -100.0 17 99 482.4
9% YT Y EEE 11 1 -90.9 - 23 100.0
96 7|EtNIE 30 1 -96.7 1 15 1400.0
99 Dj£E - - - - 78 -
97 02 29 0 -100.0 0 0 -
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2015

m
I
i

CHe

40
19

H3lo| A
S5te| &

EERE
20144 20154 3UE 20144 20154 BUE
% 31,649 22,697 -28 56,351 53,831 -4
05 7|Et SEH MAE - - - 54 - -100.0
07 MExa, 72 - - - 7 55 685.7
08 Algutal A= - - - 4,609 3,703 -19.7
09 A1, X}, gtl= 1 - -100.0 471 187 -60.3
10488 - - - 2,359 - -100.0
11 HEZ0| YME : - - 187 34| 818
12 B9 A, Z9f- 0[Ot A2 3 36| 11000 744 | 1534 |  106.2
130t, =X H 7|Et A2 N & - - - 1,154 1,192 3.3
14 424 HESE Mz - - - 22 18
16 SAI24 91 U oS : : - 28 8| 714
17 3% & A8IA - - - 1 2,635 263400
19 22, 82, SAE, 072 HE : - - 9 33| 633
20 A, TH, ATl ZHE : - - 182 24| 868
21 7| ZHAM 2 S 1 - -100.0 179 511 185.5
22 85,432 Y Mx - 17 - 31 - -100.0
23 AETY L HQB/AU0AE - - - 139 | 1621 10662
24 - - - 65 566 770.8
254, & EMF Y M0 M3 AIHE 75 223 197.3 1,972 326 -83.5
26 %, 2% Y 3 : : - 20 26 30.0
27 #2808, =R 270 1,138 321.5 13 52 300.0
28 R7|eME, Has, AERES S 657 2,963 351.0 749 236 -68.5
29 R7|2FelMIE 2,146 1,276 -40.5 - - -
309=8= 116 116 0.0 2,158 2,781 28.9
31 H= 2 148 7300.0 115 1 -99.1
32 gx, O, HQE 128 306 139.1 7,507 1,303 -82.6
33 THE=, SEER 133 16 -88.0 803 430 -46.5
34 H|%, MAH 5 31 76 145.2 70 28 -60.0
35 HMIEA, Otu, 04K 73 47 -35.6 95 4 -95.8
37 AZIS EE alg M= 72 136 85.9 - - -
38 7|Ef 2etHIE 5,653 1,121 -80.2 1,573 406 -74.2
39 E2AE 3 O MHE 2,784 4,660 67.4 1,591 3,043 91.3
40 12 ¥ I HE 280 881 214.6 91 289 217.6
41 @Rt 7t= 77 50 -35.1 4,636 1,955 -57.8
42 71 =EHIE, Y E, o= 11 1 -90.9 184 77 -b58.2
44 U2, URHE, SE 15 ~ | -100.0% - 25 -
48 0|, ®X| ¥ I HZ 663 611 -7.8% 22 1 -95.5
49 QIMAME, AMF, 7|Ef QIEHE 42 51 214 17 3 -82.4
50 A - 4 - 33 130 293.9
51 42 U I XNF - 8 - 18 180 900.0
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20151 29 Q|2 F%
_— s80 +8 580 9
20144 20154 SUE 20144 20154 548
52 ™ 165 9 -94.5 3,120 3,316 6.3
53 7IEt A2 WS HR%Y 1 N2 - - - 6 82| 12667
54 QIZTHHEHR 773 285 —-63.1 469 223 -52.5
55 QIZAH0IZ2HSR 149 553 271.1 212 542 155.7
b6 99, HE, BAZ & 94 55 -41.5 3 - -100.0
57 YEKIRS B2t - : - o87| &27| -162
68 SE+X= 25 8 -68.0 87 236 171.3
50 %, =E, 02, 298 Y5849 47 18| 2787 9 - -100.0
60 M=|OfAHE BV EES 80 32 -60.0 2 - -100.0
61 o7/F&ES(MH2(0rA, EAHEHEE) 1 - -100.0 63b 539 -156.1
62 OIF/2AE(M20A, TALHES) - - - 307 | 412 38
63 HEHR 7IEHHMZ 37 130 251.4 90 114 26.7
64 LEF - - - 73 305 317.8
65 A& - - - 3 - -100.0
67 222 &Y U 1 HE - - : : 3 :
68 M, S2tAH, AIME 59 HiE 16 19 18.8 146 137 -6.2
69 =XH7| 47 13 -72.3 575 2,539 341.6
70 72I9 7elMIE 12 17 41.7 7 14 100.0
71 BN, A55F - - - 1,863 943 -49.4
72 28 1,541 1,076 -30.2 - - -
73 2YNE 828 494 -40.3 552 491 -1
74 St 1 HE 14 76 442.9 24 515 2045.8
75 L2t 1 HZ - 3 : - 28 -
76 2201 1 HE 2,688 1,886 -29.8 93 692 644.1
78 At 1 HS 1,102 - -100.0 8,484 5,697 -32.9
79 OFALt 1 MZ 264 675 155.7 - 1,609 -
80 F47 1 A - - - - 3 -
81 7|Et HIZ&AIE 69 103 49.3 - 128 -
82 HIg&H 9 S+, = 117 140 19.7 529 382 -27.8
83 HIg &9 Z4EHMZ 151 33 -78.1 6 26 333.3
84 BAI2, B2 777 - - - mia2 | aen 187
85 M7|717|, 5¢, Yt H BES 8,160 - -100.0 1,318 960 -27.2
86 H, H=& 7|2, Ao AH]| 20 392 1860.0 337 781 131.8
87 A H 1 8F 705 610 -13.5% 333 581 74.5
88 337 3 128 - - - 2 - 1000
89 Mt 2= - - - - 17 -
90 gst, =77, B& 1,129 1,565 38.6 554 963 73.8
e 1 - -100.0 27 - -100.0
94 717, H+ & 131 159 21.4 95 247 160.0
95 AL AL EES 13 10 -23.1 2 - -100.0
96 7|EtHIE 34 18 -47.1 164 107 -34.8
99 D|2= - 273 - 16 2,284 14175.0
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4. Eil=

2015

m
I
i

CHe

40
19

=510 A
oo ==

20144 20154 54E 20144 20154 54&s

A 19,078 6,983 -63 57,774 43,042 -25
03 o=, &=, xs= S 30 47 56.7 789 659 -16.5
06 tt-=0t 7|EtAlE & 21ERE S - - - 3 - -100.0
08 Al8utd, Atz - 8 - 7 - -100.0
09 1|, &}, ez - - - 38 - -100.0
11 HESge Yis - - - 267 104 -61.0
12 SRt Ihe, SY- 2= Al - 51 - M - -100.0
16 3429 7Al & 2ot - - - 17 88 -24.8
16 2%, OF, 447 s ZHMZ - 0 - 16,458 -
17 3% & SYA} - 1 - 333 - -100.0
19 4=, M2, FMZ, HOIAZ HZ - 51 - 13 85 553.8
20 A, A, AMR O ZHIE - 12 - 337 2,177 546.0
21 7|BIANA R E - 6 - 631 946 49.9
22 87, ¥3= A Ax - 8 - 25 - -100.0
23 MESY L TIRE/AU0IAE - 41 - 329 801 143.5
25 25, &, BEMF 2 41, M3| AIHE 8 16 100.0 - 49 -
27 d2d%9%, =% 8 - -100.0 - - -
28 RU|BHeNIE, a4, SERES S 314 8 -97.5 267 22 -91.8
29 R7|2StMIZ 415 401 -3.4 2,613 57 -97.8
30 9Y=EE - - - 29 1 -96.6
32 8=, o=, HQIE 7 168 2300.0 3 3 0.0
33 ZHY=, SHYER 1 15 1400.0 214 132 -38.3
34 H|%, MM 5 211 65 -69.2 12 5 -58.3
35 HMIEZ, Otw, 04| - - - 21 13 -38.1
36 219, aHetMiE - - - 78 - -100.0
38 7|Et 2fetMlE 57 9 -82.4 - 2 -
39 E2tAH & I ME 645 506 -21.6 2,556 2,243 -12.2
40 1% 2 I NE 2 51 2450.0 27,682 12,408 -55.2
41 Amet 7t= 297 47 -84.2 - 58 -
42 71=HIE, 8, HEH 80 14 -82.5 198 - -100.0
43 20|, QIREN 3 7 HE - 6 - - - -
44 U2, LU=HS, & - 93 - 666 1,880 182.3
47 BT, HX| - - - 665 - -100.0
48 0|, MX| & 11 M= 15 2 -86.7 146 1 -99.3
49 QMMH, MZ, 7|Ef QAME 1 -85.7 10 6 -40.0
50d - - - - 33 -
52 H - - - 443 204 -54.0
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20159 SPHURIRY 5
zsau 55to| & g5to| ¢
20144 20154 3UE 20144 20154 3UE

53 7|Et A2 YR8 MR I 2= - - - - 12 -
54 QIXLIHEMR 90 106 17.8 - 26 -
55 QIZAH0|ENR 6 24 300.0 57 4 -93.0
56 YUY, WE BXn = 21 29 38.1 460 237 -48.5
58 E4XI2 1 - -100.0 - - -
59 A&, £, 5, 38 LXEHR 130 602 363.1 - - -
60 H2|ofAHED CfHHE 249 25 -90.0 48 - -100.0
61 2R/2EZ(H2I0fA, EAHEHE) 26 29 11.5 14 424 2928.6

62 27 /2L (HZ|0fA, EAEHEL) 33 39 18.2 36 300.0
63 YEIEHR 2| 7|EIHIE 2 19 850.0 - -100.0
64 AUZ - - - - 18 -
65 BXAtE - 3 100.0 - 9 -
68 M, S2tAH, AIE 59 HE 7 6 -14.3 63 20 -68.3
69 ZX| 15 16 6.7 253 - -100.0
70 R2[2t FEHZ 7 - -100.0 93 4 -95.7
PR = 45 - -100.0 5 171 3320.0
72 % 7,313 335 -95.4 629 1,031 63.9
73 HLME 840 622 -26.0 29 201 593.1
74 it 1 HE - 97 - - - -
76 4202 1 HZ 18 210 1066.7 3 - -100.0
78 ¢t 1 MIZ - - - - 1 -
79 Ot} T ME - 82 - - 48 -
82 HIZ&HQ 3+, &+ 58 18 -69.0 - 2 -
83 H|F&H(Q Z4EHE 43 - -100.0 13 4 -69.2
84 YAXIZ, BUZQ} 7|H=2 5,640 1,843 -67.3 187 1,132 505.3
85 T71717], 8%, THMHH X BEE 746 416 -44.2 455 298 -34.5
g7 AE LI RE 536 466 -13.1 369 415 12.5
88 &3’ ¥ 1 8L - - - 40 - -100.0
90 &3, 9=7|7|, BE 676 343 -49.3 1 445 | 44400.0
R YWNHEEZ - - - 4 - -100.0
94743, FF S 139 20 -85.6 143 11 -92.3
95 A LU HEE 323 1 -99.7 87 58 -33.3
96 7|EFHZ 11 5 -54.5 - -100.0
97 Gil&E 12 - -100.0 4 - -100.0
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5. L3z2to|L}

(% :$H, %)

S Ssto| +5 S5to| 40l
BT 20139 | 201449 | ZLE | 20139 | 20144 | ZzE

=7 332 2,021 509 | 10,439 | 33,739 223

04 Y=Z X2t HMoE = - - - 77 66 -14.3
09 AL, Xt, A= - - - - 2 _
10322 - - - 1,892 -1 -100.0
11 HE2Z 0| MAME - - - 7,637 | 10,141 32.8
12 SRt utA) S -2kg AS - - - 552 493 -10.7
15 SA2H 8 U 2ot - - - 33 116 | 2515
16 8%, 0IF, U2 9 ZXZ - - - - 3 -
18 09} 1 RHZ= - - - - 1 -
19 32, HE, QFE, o742 HE - - - - 25 -
21 7|E}RHA R E - - - - 17 -
2222 AUFS U AX - - - - 2 -
23 ANESY LY URE/AU0IAE - - - - 47 -
29 /7|=EtME - 16 - - - -
30 9=8= - 31 - - - -
32 ¢iZ, OtF, HoIE 1 -1 -100.0 - - -
3 IX-”otE 9_|»XHELE — 12 — - - _
35 2 SX Ofl, ZO§X| - 36 - - -
38 7|Et 2fSIHIE 27 1,665 | 6066.7 - - -
39 E2tAE 2 O NS 4 58 1350.0 - - -
40 12 U I HE 6 -1 -100.0 - - -
42 7tEHIE, HlE+, = 3 1 -66.7 - - -
44 L2, LIRNIE, SH - - - 6 64 966.7
52 ™ 9 -1 -100.0 - - -
55 QIXAHOIEMS 46 - -100.0 - - -
b6 ¥E, BE, BRI & 25 15 -40.0 - - -
5o HE, &1, O|E, 3¢S YHEMR 1 - -100.0 - - -
61 2R/E&E(H2|ofA, TAHRTHE) 1 - -100.0 - - -
62 97 /E4E(M2(0A, EARTER) 2 - -100.0 - - -
63 YEIZM RO 7 |EtHIE - - - 48 -1 -100.0
73 HUHE - - - 32 -1 -100.0
81 7|Eft HIEENIE - - - 6 - -100.0
82 HIZEHS S+, = 1 1 0.0 - - -
83 HIZ&HQ| A4ENE 1 - -100.0 - - -
84 YUXIE, BP9} 7|H 2 71 8 -88.7 102 39 -61.8
85 T7|717|, 8%, FAaMH U BEz 21 2 -90.5 4 -1 -100.0
87 Xz % 1 8 60 23 -61.7 - - -
88 B Y I BE - - - - | 22,689 -
90 &st, o|27(7|, & 52 151 190.4 50 34 -32.0
Q2 Y EEZ - 1 - - - -
96 7|EtHIZ 1 1 0.0 - - -
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6. CHEt
(29 $, %)
setel =5 sste ¢
E841=
20144 20154 SEUE 20144 20154 SUE

A 40,358 29,899 -26 3,616 97 -97
03 o=, Y447, HHlsE S 11 42 281.8 - - -
10 5= - - - - 5 -
11 M2SY itz - - - - 1 -
12 SRt I, SY- 2484 = 1,373 1,446 5.3 - 4 -
15 SAl2d RAl & 2aidd= - - - 5 - -100.0
19 5=, e, |RAlIE, HOoIHE Mz - - - - 3 -
21 J[EIEHAEE - - - - 18 _
225=, 432 Az - - - 38 - -100.0
24 EfHf - - - 87 - -100.0
25 &g, &, BEMF 2 441, 3], AIFIE 5,940 2,953 -50.3 - - -
27 d=28%9%, d=F 29,737 24,318 -18.2 - - -
30 Y=8E - - - - 20 -
33 M=, HYER - - - 7 - -100.0
34 HiF, NiH| S - - - 29 12 -58.6
39 S2tAE 2 I HiE - - - 8 - -100.0
40 1% 3 T NIE - - 226 - -100.0
48 F0|, HX| % 1 ME - 1 - 12 - -100.0
54 QX LHHENR - - - 8 - -100.0
61 AR/FEE(MH2(0tA, ZAHEHEE) 234 79 -66.2 - - -
62 R /R&EF(H2/0FA, EAEHEHER) 513 998 94.5 - - -
64 LEF - - - 9 - -100.0
70 7el2t FelMIE 4 - -100.0 - - -
72 ®Y 2,625 - -100.0 - - -
82 Hlg&He S+, =+ - - - 1 - -100.0
84 HAZ, Bt 7[AF - 53 - 29 -86.2
85 H7|717|, 8%, Y&t H BEF 10 6 -40.0 42 19 -54.8
90 &st, o=717|, &= - - - 2 6 200.0
94717, H+ & - - - 4 - -100.0
96 7|EtHIE 1,038 - -100.0 - - -
99 0I2= 11 3 -72.7 2 5 150.0

56



2015

m
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CHe

40
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_— S3t0| 25 £35t0| 294
=TT 20144 | 20158 | =8 | 20144 | 20154 | ZuE

=7 116 1,336 1052 | 48617 | 28437 42
03 012, ZZIZ CIHES S 11 112 281.8 - - -
10zZ2 - - - - 5 -
11 H2Lo|Arz - - - - 1 -
12 ZXfQ} THAl, ZQ-0jorg Alg 1,373 1,224 53 - 4 -
15 SAIZH QK| U 2oz - - - 5 - -100.0
19 22 M2, QFZ, Ho|7z2] M2 - - - - 3 -
21 7|EtERA 22 N N N _ 13 -
2282, YTS Y AX - - - 38 -] 1000
24, it - - - 87 -1 -1000
25 A, & EME U MT M3| AHE 5,940 - -50.3 - - -
27 EANYE B2Q 29,737 - -18.2 - - -
30 9|2 2= - - - - 20 -
33 ZHER, SRR - - - 7 -] -1000
34 H%, HH S - - - 29 12 -58.6
39 ZatAEl U ] HIE - - - 8 - -100.0
40 182 2 1 HZ - - 226 -] -1000
48 Z0|, ®X| U 7 K= - - - 12 -] 1000
54 QIZLBIHE NS - - - 8 -] 1000
61 o2 /2AZ(02|0pA, CHEHES) 234 - -66.2 - - -
62 0|2 /HAE(H2|0A, CHEHES) 513 - 94.5 - - -
64 Alets - - - 9 -1 -1000
70 Q219 Q2|X|= 4 -1 -1000 - - -
72 27t 2,525 -1 -1000 - - -
82 HIZ4HQ 27, £ - - - 1 -] -1000
84 YUXf2, BU2{ot 7|H 2 - - - 29 4 -86.2
85 T717|7|, S8, HAMH| U BEZ 10 - -40.0 42 19 -54.8
90 -t o=7|7|, B2 - - - 2 6 200.0
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